HEES 2 A A #e4E ma | me | B R
m
9892111 WTRTIR ST FE & 93 F i1 HEESEE 1018% 1| fikiEE 2016 85.37
9892111 WLTTHETIR ST F B & 93 & i 1 HEESEE 1028% 1| kS 2016 61.95
9892111 WLTTHETIR ST F B & 93 & i 1 HEESEE 1038= 1| kS 2016 61.95
9892111 WTRTIR ST FE & 93 F i1 HEESEE 1045 % 1| fikiEE 2016 61.95
9892111 WERT R FE 593 %1 HEEEEE 1058 % 1] itk 2016 69.62
9892111 WERT R FE 593 %1 HEEEEE 1065 = 1] itk 2016 74.51
9892111 WERT R FE 593 %1 HEEEEE 201 8= 2| mtXiEE 2016 85.37
9892111 WERT R FE 693 %1 HEEEEE 2028 = 2| mtXiEE 2016 61.95
9892111 WERT R FE 593 %1 HEEEEE 2038=E 2| mtXiEE 2016 61.95
9892111 WERT R FE 593 %1 HEEEEE 2048 = 2| mtXiEE 2016 61.95
9892111 WERT R FE 693 % 1 HEEEEE 2058 = 2| mtXiEE 2016 69.62
9892111 WERT R FE 593 %1 HEEEEE 2068 = 2| mtXiEE 2016 69.62
9892111 WERT R FE 593 %1 HEEEEE 3018 % 3| Mt XiEE 2016 85.37
9892111 WERT R FE 593 %1 HEEEEE 3028 % 3| Mt kiEE 2016 61.95
9892111 WERT R FE 593 %1 HEEEEE 3038 % 3| Mt kiEE 2016 61.95
9892111 WERT R FE 593 %1 HEEEEE 30485 % 3| it XiEE 2016 61.95




